Confidentiality Requested:

Yes No

#### Kansas Corporation Commission Oil & Gas Conservation Division

1259155

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15				
Name:			Spot Description:				
Address 1:			Sec	TwpS. R			
Address 2:			Feet	from $\ \square$ North / $\ \square$ South Line of Section			
City: St	ate: Ziŗ	D:+	Feet	from East / West Line of Section			
Contact Person:			Footages Calculated from Ne	arest Outside Section Corner:			
Phone: ()			□ NE □ NW	□ SE □ SW			
CONTRACTOR: License #			GPS Location: Lat:	, Long:			
Name:				. xx.xxxxx) (e.gxxx.xxxxx)			
Wellsite Geologist:			Datum: NAD27 NAD27				
Purchaser:			County:				
Designate Type of Completion:			Lease Name:	Well #:			
New Well Re-	·Fntrv	Workover	Field Name:				
	_		Producing Formation:				
☐ Oil ☐ WSW	SWD	SIOW	Elevation: Ground: Kelly Bushing:  Total Vertical Depth: Plug Back Total Depth:				
☐ Gas ☐ D&A ☐ OG	☐ ENHR	☐ SIGW ☐ Temp. Abd.					
CM (Coal Bed Methane)	G3W	iemp. Abd.	Amount of Surface Pipe Set a	and Cemented at: Feet			
Cathodic Other (Core, Expl., etc.):			Multiple Stage Cementing Co				
If Workover/Re-entry: Old Well Inf				Feet			
Operator:				nent circulated from:			
Well Name:			, ,	w/sx cmt.			
Original Comp. Date:			loot doparto.	W,			
	_	NHR Conv. to SWD					
Deepening Re-perf. Plug Back	Conv. to GS		Drilling Fluid Management F (Data must be collected from the				
Commingled	Permit #:		Chloride content:	ppm Fluid volume: bbls			
Dual Completion	Permit #:		Dewatering method used:				
SWD	Permit #:		Location of fluid disposal if ha	uled offsite:			
☐ ENHR	Permit #:		On a water Manage				
GSW	Permit #:			L'acces II			
				License #:			
Spud Date or Date Rea	iched TD	Completion Date or		TwpS. R			
Recompletion Date		Recompletion Date	County:	Permit #:			

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Date:

					Page 1	Two		1259	155			
Operator Name:					Lease Na	ame: _			_ Well #:			
SecTwp	p	S. R	East	West	County:							
open and closed, and flow rates if g	, flowing gas to si ty Log, F	and shut-in presurface test, along	sures, wheth with final cha obtain Geopl	er shut-in pre art(s). Attach nysical Data	essure reache n extra sheet and Final Ele	ed stati if more ctric Lo	c level, hydrost space is need	ies of drill stems to atic pressures, bo ed. ailed to kcc-well-lo	tom hole tempe	erature, fl	luid recovery,	
——————————————————————————————————————	milleu ii	T LAS VEISION 2.0	of flewer Ar	ND all illiage	ille (TIFF OI I	-DF).						
Drill Stem Tests T (Attach Additi		ets)	Yes	No No		L Nam		ion (Top), Depth a	nd Datum Top		Sample Datum	
Samples Sent to	Geologi	ical Survey	Yes	☐ No		INAIII	е		Юр		Jalum	
Cores Taken Electric Log Run			Yes Yes									
List All E. Logs R	un:											
			Report		RECORD conductor, surf	Ne	ew Used	tion, etc.				
Purpose of Str	rina	Size Hole	Size	Casing	Weigh	t	Setting	Type of	# Sacks		and Percent	
. a.peee e. ea.iig		Drilled	Set (In O.D.)		Lbs. / F	·t.	Depth	Cement	Used	A	Additives	
			1	ADDITIONAL	CEMENTING	G/SQL	JEEZE RECORI	)				
Purpose:		Depth Top Bottom	Type of Cement # Sa		# Sacks U	Jsed		Type and I	ype and Percent Additives			
Periorate Protect Cas												
Plug Off Zo												
D: 1									·			
Did you perform a house the volume of	-	_		ng treatment ex	xceed 350,000	gallons		☐ No (If No, sk	ip questions 2 ar ip question 3)	1a 3)		
Was the hydraulic fr	racturing	treatment information	on submitted to	the chemical	disclosure regi	stry?	Yes	No (If No, fill	out Page Three	of the ACC	O-1)	
Shots Per Foot	t			- Bridge Plug ich Interval Per				acture, Shot, Cemen		d	Depth	
							,		,		·	
TUBING RECORE	D:	Size:	Set At:		Packer At:		Liner Run:	Yes No				
Date of First, Resu	umed Pro	oduction, SWD or EN	IHR.	Producing Met	hod:		Gas Lift	Other (Explain)				
Estimated Produc Per 24 Hours	tion	Oil	Bbls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio		Gravity	
DIODO	OCITION!	OE CAC:			METHOD OF C	ONAD!	ETION:		DDOD! IOT!			
Vented	Sold	OF GAS:  Used on Lease	Op	en Hole	METHOD OF C	Dually	Comp. Co	ommingled	PRODUCTIO	N IN EK	VAL.	
	1000			_		Submit )		bmit ACO-4)				

Other (Specify)

☐ Vented ☐ Sold ☐ Used on Lease (If vented, Submit ACO-18.)

Form	ACO1 - Well Completion
Operator	Citation Oil & Gas Corp.
Well Name	BARRY LKC UNIT 4-06
Doc ID	1259155

### Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	_	Type Of Cement	Type and Percent Additives



P.O. Box 205803 Dallas, TX 75320-5803

Voice:

(832) 482-3742

Fax:

(832) 482-3738

Bill To:

Citation Oil & Gas Corp. 1016 East Highway 40 Bypass Hays, KS 67601

RECEIVED JUL 3 0 2015 HAYS KANSAS

## INVOICE

Invoice Number: 150214

Invoice Date: Jul 17, 2015 1

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment Terms		
Cita	55671	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS2-05	Russell	Jul 17, 2015	8/16/15	

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Barry LKC #4-06 AFE #150583		
375.00	CEMENT MATERIALS	Class A Common	17.90	6,712.50
705.00	CEMENT MATERIALS	Chloride	1.10	775.50
3.00	CEMENT MATERIALS	Sand	14.40	43.20
375.00	CEMENT SERVICE	Cubic Feet Charge	2.48	930.00
528.75	CEMENT SERVICE	Ton Mileage Charge	2.75	1,454.06
1.00	CEMENT SERVICE	Squeeze	2,243.75	2,243.75
30.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	132.00
1.00	CEMENT SERVICE	Squeeze Manifold Rental	430.00	430.00
60.00	CEMENT SERVICE	Heavy Vehicle Mileage	7.70	462.00
1.00	CEMENT SUPERVISOR	Allen Werth		
1.00	CEMENT SUPERVISOR	Robert Yakubovich		
1.00	OPERATOR ASSISTANT	Benjamin Griffin		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

5,932.35

ONLY IF PAID ON OR BEFORE

Aug 16, 2015

Subtotal	13,183.01
Sales Tax	856.90
Total Invoice Amount	14,039.91
Payment/Credit Applied	
TOTAL	14,039.91

# ALLIED OIL & GAS SERVICES, LLC 055671 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 6766.	5	SERVICE POINT:				
DATE 7-17-15 SEC. TWP.	RANGE	CALLED OUT	7-17-15 ON LOCATION 745AM	JOB START FOODM	JOB FINISH	
LEASE BARRY WELL# 4-06	LOCATION A	e, N-70 Ro	07	COUNTY	STATE	
OLD OR NEW (Circle one)				Rooks		
OBS ON THE TOTAL CONTROL ON TH	West 10 1	where A Dog !	House-N-int	į		
CONTRACTOR Express well		OWNER	roa -			
TYPE OF JOB Squeeze CAS	ing LealC.	-		70.70		
HOLE SIZE / T.D.		CEMENT				
CHOIRTO ORDO		AMOUNT ORD	ERED 780	ske Go	MARON	
DRILL PIPE DEP	TH 3058 10	- dyo cc	. Brough	+ 4755	Es	
TOOL Expert Tools DEP		•	••		<del></del>	
	IMUM	COMMON_3	7-5	@ # 17.90	67/2.50	
	E JOINT	POZMIX	1.10	@		
CEMENT LEFT IN CSG.		GEL	705	@		
PERFS.		CHLORIDE	16s	@1.10	\$ 775,50	
DISPLACEMENT		ASC		.@		
EQUIPMENT		SANOP. 3-	ske		43.20	
		ST		.@		
PUMPTRUCK CEMENTER Alle		. The	Carried Control of the Control of th	 @	-	
#409 HELPER R. YAK	ubovich	You T	enel.	. @	1531,20	
BULKTRUCK			Perount	@ 3389.0	4	
#985-292 DRIVER B. Gri-	14:20			@		
# DRIVER			375	@	- 40	
±A		HANDLING		@H248	\$ 830.00	
The state of the s	The second secon	MILEAGE 7 M	578.75		\$1454.06	
REMARKS: J.	20202		- 2 El. 12	TOTAL		
see Job summary.		•	201			
Holes-2141-21710 Holes-2293-2480		•	SERVIC	CE		
Holes 832-861		DEPTH OF IOR		~		
14 9 167 9 9 1		DEPTH OF JOB PUMP TRUCK			12243.75	
		EXTRA FOOTA		@	A CLASS NO	
			'm 30mi		# /32.00	
		MANIFOLD	1- ex	\$430,00	\$ 430.00	
		HUM	60mi		d 462.00	
31.1.				.@		
CHARGETO: citation oil	248+				<b>*</b>	
STREET		Alisa	2543.31	TOTAL	5651.81	
CITYSTATE	710					
CH I	ZIF	P	LUG & FLOAT	<b>EQUIPMEN</b>	T	
		•				
				@		
		× .		@		
To: Allied Oil & Gas Services, LLC.						
You are hereby requested to rent ceme	enting equipment			.@		
and furnish cementer and helper(s) to	assist owner or			.@		
contractor to do work as is listed. The						
done to satisfaction and supervision of				TOTAL	***************************************	
contractor. I have read and understand		CALECTAY (16	Anvi			
TERMS AND CONDITIONS" listed of	on the reverse side.					
1 21		TOTAL CHARC	JES \$13,183		<del>\</del>	
PRINTED NAME LEDN PLA	inte	DISCOUNT	5931,3-	IE PAIL	IN 30 DAYS	
- P D D.1-			250,66	,		
SIGNATURE Jon Into			12000	8		
		× /				

#### WELLBORE SCHEMATIC

